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Introduction to Proofs
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Directions:   
This problem has been done for you, but some of the explanations are missing!
Fill in the missing explanations so that the solution makes sense.


Given:
Lines 
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 intersect at point J.
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 is a right angle. 
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Task:
Find the measure of all other angles. 

Steps
1)  
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Explanation

All right angles measure 90°.


[image: image19.wmf]Ð

AJG

 and 
[image: image20.wmf]Ð

CJD

 are vertical angles. 

Given
____________________________________


[image: image21.wmf]Ð

mAJG

 and 
[image: image22.wmf]Ð

mAJB

 are adjacent angles

____________________________________

____________________________________

____________________________________

____________________________________








D





B





J








A





E





C








G








_1231406477.unknown

_1231406599.unknown

_1231406774.unknown

_1231407023.unknown

_1231407056.unknown

_1231406789.unknown

_1231406630.unknown

_1231406690.unknown

_1231406622.unknown

_1231406589.unknown

_1231406108.unknown

_1231406114.unknown

_1231405862.unknown

_1231405975.unknown

_1231406033.unknown

_1231405935.unknown

_1231405974.unknown

_1231405718.unknown

_1231405784.unknown

